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Answers

1. 1,120

2. 1,150

3. 400

4. 1,140

5. 1,000

6. 1,420

7. 980

8. 860

9. 1,000

10. 840

Solve each problem.

1) In a math book, there were 210 problems in chapter one and
914 in chapter two. To the nearest ten, how many problems
are there in the first 2 chapters?

ten
210 + 910

1120

hundred
210 + 914

1124 = 1120

2) In one day, a mail truck gave out 925 letters and 220
magazines. To the nearest ten, how many pieces of mail did
was delivered total?

ten
930 + 220

1150

hundred
925 + 220

1145 = 1150

3) Carl and Amy were collecting cans for recycling. Carl
collected 174 cans and Amy collected 214. To the nearest
hundred, what is the total number of cans they collected?

ten
200 + 200

400

hundred
174 + 214
388 = 400

4) The classes in the fourth grade were counting the fundraiser
money they earned. Mr. Smith's Class earned 845 dollars
and Mrs. White's class earned 291 dollars. To the nearest
ten, how much did they earn total?

ten
850 + 290

1140

hundred
845 + 291

1136 = 1140

5) At a hotdog eating contest, in the first round 583 hotdogs
were eaten and in round two another 426 were eaten. To the
nearest hundred, how many hotdogs were eaten total?

ten
600 + 400

1000

hundred
583 + 426

1009 = 1000

6) On Monday a shipping company sent out 907 boxes. On
Tuesday they sent out another 508 boxes. To the nearest ten,
what is the total number of boxes they sent out?

ten
910 + 510

1420

hundred
907 + 508

1415 = 1420

7) A pet store had 498 goldfish and 480 clown fish. To the
nearest ten, what is the total number of both types of fish?

ten
500 + 480

980

hundred
498 + 480
978 = 980

8) For a new year's party 488 red balloons and 369 green
balloons were used. To the nearest ten, what is the total
number of balloons used?

ten
490 + 370

860

hundred
488 + 369
857 = 860

9) Bianca was looking through old photo albums. The first had
581 pics and the second had 422. To the nearest hundred,
how many pictures were there total?

ten
600 + 400

1000

hundred
581 + 422

1003 = 1000

10) At the dog show there were 686 large dogs and 149 small
dogs. To the nearest ten, how many dogs were at the dog
show?

ten
690 + 150

840

hundred
686 + 149
835 = 840
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Solve each problem.

860 1,000 1,120 1,140

1,150 980 1,420 400

1) In a math book, there were 210 problems in chapter one and
914 in chapter two. To the nearest ten, how many problems
are there in the first 2 chapters?

ten
210 + 910

1120

hundred
210 + 914

1124 = 1120

2) In one day, a mail truck gave out 925 letters and 220
magazines. To the nearest ten, how many pieces of mail did
was delivered total?

ten
930 + 220

1150

hundred
925 + 220

1145 = 1150

3) Carl and Amy were collecting cans for recycling. Carl
collected 174 cans and Amy collected 214. To the nearest
hundred, what is the total number of cans they collected?

ten
200 + 200

400

hundred
174 + 214
388 = 400

4) The classes in the fourth grade were counting the fundraiser
money they earned. Mr. Smith's Class earned 845 dollars and
Mrs. White's class earned 291 dollars. To the nearest ten,
how much did they earn total?

ten
850 + 290

1140

hundred
845 + 291

1136 = 1140

5) At a hotdog eating contest, in the first round 583 hotdogs
were eaten and in round two another 426 were eaten. To the
nearest hundred, how many hotdogs were eaten total?

ten
600 + 400

1000

hundred
583 + 426

1009 = 1000

6) On Monday a shipping company sent out 907 boxes. On
Tuesday they sent out another 508 boxes. To the nearest ten,
what is the total number of boxes they sent out?

ten
910 + 510

1420

hundred
907 + 508

1415 = 1420

7) A pet store had 498 goldfish and 480 clown fish. To the
nearest ten, what is the total number of both types of fish?

ten
500 + 480

980

hundred
498 + 480
978 = 980

8) For a new year's party 488 red balloons and 369 green
balloons were used. To the nearest ten, what is the total
number of balloons used?

ten
490 + 370

860

hundred
488 + 369
857 = 860

Answers

1. 1,120

2. 1,150

3. 400

4. 1,140

5. 1,000

6. 1,420

7. 980

8. 860
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